

# City of Spring Valley Village Police Department

1025 Campbell Road Houston, TX 77055 713-465-8323 Fax: 713-465-3135 Mark Schulze – Chief of Police

Date: January 3, 2024

To: City Administrator Cassie Stephens

From: Chief M. Schulze

**Reference: 2023 Racial Profiling Report** 

As required by Article 2.132 – 2.138 of the Texas Code of Criminal Procedure, please allow the attached document to serve as the annual submission to the governing body (City Council) of the City of Hilshire Village with the Spring Valley Village Police Department's Racial Profiling Report for calendar year 2023. The pages include a copy of the Spring Valley Village Police Department Senate Bill 1187 Racial Profiling Report which has also been electronically filed with the Texas Commission on Law Enforcement.

Jan 1, 2023 - Dec 31, 2023

#### **Texas TCOLE SB1187 Racial Profiling Report (2022)**

PLEASE NOTE: This report is based on the format provided by the Texas Commission on Law Enforcement (TCOLE), current as of Dec. 14, 2022.

01.Total Traffic Stops			
			7,545
			7,545
02. Location of Stop			
CITY STREET		98.29%	7,416
PRIVATE PROPERTY OR OT	HER	1.51%	114
US HIGHWAY		0.20%	15
Total		100.00%	7,545
03. Was Race Known Prio	or to Stop?		
N		99.81%	7,531
Υ		0.19%	14
Total		100.00%	7,545
04. Race or Ethnicity			
ALASKA NATIVE/AMERICAN	INDIAN	2.25%	170
ASIAN/PACIFIC ISLANDER		6.44%	486
BLACK		18.32%	1,382
HISPANIC/LATINO		36.96%	2,789
WHITE		36.02%	2,718
Total		100.00%	7,545
05. Gender			
FEMALE	ALASKA NATIVE/AMERICAN INDIAN	1.40%	41
	ASIAN/PACIFIC ISLANDER	6.40%	188
	BLACK	21.13%	621
	HISPANIC/LATINO	31.88%	937
	WHITE	39.20%	1,152



Report Created on: Jan 2, 2024 6:38 PM Page: 1 of 7

Jan 1, 2023 - Dec 31, 2023

#### **Texas TCOLE SB1187 Racial Profiling Report (2022)**

PLEASE NOTE: This report is based on the format provided by the Texas Commission on Law Enforcement (TCOLE), current as of Dec. 14, 2022.

05. Gender			
		100.00%	2,939
MALE	ALASKA NATIVE/AMERICAN INDIAN	2.80%	129
	ASIAN/PACIFIC ISLANDER	6.47%	298
	BLACK	16.52%	761
	HISPANIC/LATINO	40.21%	1,852
	WHITE	34.00%	1,566
		100.00%	4,606
Total			7,545
06. Reason for Stop?			
MOVING TRAFFIC VIOLATION	ALASKA NATIVE/AMERICAN INDIAN	2.01%	67
	ASIAN/PACIFIC ISLANDER	7.90%	264
	BLACK	17.40%	581
	HISPANIC/LATINO	22.34%	746
	WHITE	50.36%	1,682
		100.00%	3,340
PRE EXISTING KNOWLEDGE	HISPANIC/LATINO	100.00%	1
		100.00%	1
VEHICLE TRAFFIC VIOLATION	ALASKA NATIVE/AMERICAN INDIAN	2.46%	102
	ASIAN/PACIFIC ISLANDER	5.25%	218
	BLACK	19.15%	795
	HISPANIC/LATINO	48.52%	2,014
	WHITE	24.62%	1,022
		100.00%	4,151
VIOLATION OF LAW	ALASKA NATIVE/AMERICAN INDIAN	1.89%	1

Page: 2 of 7



Report Created on: Jan 2, 2024 6:38 PM

Jan 1, 2023 - Dec 31, 2023

#### Texas TCOLE SB1187 Racial Profiling Report (2022)

PLEASE NOTE: This report is based on the format provided by the Texas Commission on Law Enforcement (TCOLE), current as of Dec. 14, 2022.

06. Reason for Stop?			
VIOLATION OF LAW	ASIAN/PACIFIC ISLANDER	7.55%	4
	BLACK	11.32%	6
	HISPANIC/LATINO	52.83%	28
	WHITE	26.42%	14
		100.00%	53
Total			7,545
07. Was a Search Conducted	d?		
N	ALASKA NATIVE/AMERICAN INDIAN	2.25%	169
	ASIAN/PACIFIC ISLANDER	6.47%	486
	BLACK	18.30%	1,375
	HISPANIC/LATINO	36.94%	2,776
	WHITE	36.05%	2,709
		100.00%	7,515
Υ	ALASKA NATIVE/AMERICAN INDIAN	3.33%	1
	BLACK	23.33%	7
	HISPANIC/LATINO	43.33%	13
	WHITE	30.00%	9
	Kantani da kantani da ka	100.00%	30
Total			7,545
08. Reason for Search?			
CONSENT	BLACK	14.29%	1
	HISPANIC/LATINO	28.57%	2
	WHITE	57.14%	4
		100.00%	7
CONTRABAND IN PLAIN VIEW	WHITE	100.00%	1

7 **v... brazos** 

Report Created on: Jan 2, 2024 6:38 PM Page: 3 of 7

Jan 1, 2023 - Dec 31, 2023

#### Texas TCOLE SB1187 Racial Profiling Report (2022)

PLEASE NOTE: This report is based on the format provided by the Texas Commission on Law Enforcement (TCOLE), current as of Dec. 14, 2022.

08. Reason for Search?			
		100.00%	
INCIDENT TO ARREST	BLACK	16.67%	1
	HISPANIC/LATINO	66.67%	4
	WHITE	16.67%	1
Lincoln a linear participation in	A PROPERTY OF THE PARTY OF THE	100.00%	6
NO SEARCH	ALASKA NATIVE/AMERICAN INDIAN	2.25%	169
	ASIAN/PACIFIC ISLANDER	6.47%	486
	BLACK	18.30%	1,375
	HISPANIC/LATINO	36.94%	2,776
	WHITE	36.05%	2,709
Name and Address of the Owner, where the Owner, which the Owner, where the Owner, which the		100.00%	7,515
PROBABLE CAUSE	ALASKA NATIVE/AMERICAN INDIAN	6.25%	1
	BLACK	31.25%	5
	HISPANIC/LATINO	43.75%	7
	WHITE	18.75%	3
	CONTRACTOR STREET	100.00%	16
Total			7,545
09. Was Contraband Disco	overed?		
N	BLACK	25.00%	3
	HISPANIC/ LATINO	50.00%	6
	WHITE	25.00%	3
Marin Danis and State of	THE RESERVE AND ADDRESS OF THE PARTY.	100.00%	12
Υ	ALASKA NATIVE/ AMERICAN INDIAN	5.56%	1



Report Created on: Jan 2, 2024 6:38 PM

brazos\*
artifer puelle safety solution

Report Created on: Jan 2, 2024 6:38 PM

Jan 1, 2023 - Dec 31, 2023

### Texas TCOLE SB1187 Racial Profiling Report (2022)

PLEASE NOTE: This report is based on the format provided by the Texas Commission on Law Enforcement (TCOLE), current as of Dec. 14, 2022.

09. Was Contraband Dis	scovered?		
Υ	BLACK	22.22%	4
	HISPANIC/ LATINO	38.89%	7
	WHITE	33.33%	6
		100.00%	18
Total			30
10. Description of Contr	aband		
ALCOHOL	BLACK	20.00%	1
	HISPANIC/LATINO	60.00%	3
	WHITE	20.00%	1
		100.00%	5
DRUGS	ALASKA NATIVE/AMERICAN INDIAN	9.09%	1
	BLACK	18.18%	2
	HISPANIC/LATINO	36.36%	4
	WHITE	36.36%	4
Carried Section 19	THE RESERVE OF THE PARTY OF THE	100.00%	11
OTHER	HISPANIC/LATINO	100.00%	1
	A CHARLEST AND A STREET	100.00%	1
WEAPONS	BLACK	66.67%	2
	WHITE	33.33%	1
appropriate and appropriate to		100.00%	3
Total			20
11. Result of the Stop			
CITATION	ALASKA NATIVE/AMERICAN INDIAN	1.64%	69
	ASIAN/PACIFIC ISLANDER	4.86%	204

Page: 5 of 7



Jan 1, 2023 - Dec 31, 2023

## Texas TCOLE SB1187 Racial Profiling Report (2022)

PLEASE NOTE: This report is based on the format provided by the Texas Commission on Law Enforcement (TCOLE), current as of Dec. 14, 2022.

CITATION BLACK 18.75% 78:	11. Result of the Stop			
WHITE 30.55% 1,28%  100.00% 4,199  CITATION AND ARREST HISPANIC/LATINO 75.00% 3 WHITE 25.00% 100.00% 1		BLACK	18.75%	787
CITATION AND ARREST HISPANIC/LATINO 75.00% 30		HISPANIC/LATINO	44.20%	1,855
CITATION AND ARREST HISPANIC/LATINO 75.00% 25.00% 100.		WHITE	30.55%	1,282
WRITTEN WARNING  ALASKA NATIVE/AMERICAN INDIAN  ASIAN/PACIFIC ISLANDER BLACK HISPANIC/LATINO WHITE  100.00%  WRITTEN WARNING AND ARREST  BLACK HISPANIC/LATINO WHITE  100.00%  Total  Total  100.00%  Total  12. Arrest Based On  OUTSTANDING WARRANT BLACK HISPANIC/LATINO WHITE  12.50% WHITE  100.00%  Total  VIOLATION OF TRAFFIC LAW HISPANIC/LATINO WHITE  100.00%  Total  VIOLATION OF TRAFFIC LAW HISPANIC/LATINO WHITE  100.00%  Total  OUTSTANDING WARRANT BLACK HISPANIC/LATINO TOTAL  TOTAL  WHITE  100.00%  TOTAL  TOTAL  TOTAL  WHITE  100.00%  TOTAL  TOTAL  TOTAL  WHITE  100.00%  TOTAL  TOTAL  WHITE  100.00%  TOTAL  TOTAL  TOTAL  TOTAL  WHITE  TOTAL  TO	And the state of the state of the state of		100.00%	4,197
WRITTEN WARNING  ALASKA NATIVE/AMERICAN 1.00.00%	CITATION AND ARREST	HISPANIC/LATINO	75.00%	3
WRITTEN WARNING  ALASKA NATIVE/AMERICAN 1.03% 107 INDIAN  ASIAN/PACIFIC ISLANDER 8.45% 282 BLACK 17.80% 594 HISPANIC/LATINO 27.75% 926 WHITE 42.97% 1,434 100.00% 3,333 WRITTEN WARNING AND ARREST HISPANIC/LATINO 71.43% 55 100.00% 71.43% 55 100.00% 71.43% 55 100.00% 71.43% 55 100.00% 71.43% 55 100.00% 71.43% 71		WHITE	25.00%	1
INDIAN  ASIAN/PACIFIC ISLANDER  BLACK  HISPANIC/LATINO  WHITE  42.97%  1,432  WRITTEN WARNING AND ARREST  HISPANIC/LATINO  WHITE  100.00%  Total  Total  100.00%  Total  12. Arrest Based On  OUTSTANDING WARRANT  BLACK  HISPANIC/LATINO  WHITE  12.50%  WHITE  100.00%  Total  100.00%  WHITE  100.00%  Total  100.00%  WHITE  100.00%  Total  100.00%  Total  100.00%  Total  Total  100.00%  Total  Total  100.00%  Total			100.00%	4
BLACK HISPANIC/LATINO 27.75% 926 WHITE 42.97% 1,432  WRITTEN WARNING AND ARREST BLACK HISPANIC/LATINO 71.43% WHITE 14.29% Total  Total  Total  100.00% 7,548  100.00%  Total  Total  HISPANIC/LATINO 75.00% WHITE 12.50% HISPANIC/LATINO 75.00% WHITE 12.50% WHITE 12.50% WHITE 12.50% WHITE 13.33%	WRITTEN WARNING		3.03%	101
HISPANIC/LATINO 27.75% 926 WHITE 42.97% 1,434  100.00% 3,337  WRITTEN WARNING AND ARREST HISPANIC/LATINO 71.43% 55 WHITE 14.29% 7  100.00% 7  12. Arrest Based On  OUTSTANDING WARRANT BLACK 12.50% 7  HISPANIC/LATINO 75.00% 66 WHITE 12.50% 7  VIOLATION OF TRAFFIC LAW HISPANIC/LATINO 66.67% 22 WHITE 33.33% 7		ASIAN/PACIFIC ISLANDER	8.45%	282
WHITE 42.97% 1,432  100.00% 3,333  WRITTEN WARNING AND ARREST BLACK 14.29% 14.29% 15.00% 15.0		BLACK	17.80%	594
WRITTEN WARNING AND ARREST  WRITTEN WARNING AND HISPANIC/LATINO 71.43% 55 7,545  Total 7,545  12. Arrest Based On OUTSTANDING WARRANT BLACK HISPANIC/LATINO 75.00% 66 75 75.00% WHITE 12.50% 75.00% WHITE 12.50% 75.00% WHITE 12.50% 75.00% 75.00% WHITE 12.50% 75.00		HISPANIC/LATINO	27.75%	926
WRITTEN WARNING AND ARREST  HISPANIC/LATINO  WHITE  100.00%  Total  7,548  12. Arrest Based On  OUTSTANDING WARRANT  BLACK  HISPANIC/LATINO  WHITE  12.50%  WHITE  100.00%  Total  7,548  100.00%  WHITE  100.00%  WHITE  100.00%  WHITE  100.00%  WHITE  100.00%  WHITE  33.33%		WHITE	42.97%	1,434
ARREST  HISPANIC/LATINO  WHITE  14.29%  100.00%  Total  7,548  12. Arrest Based On  OUTSTANDING WARRANT  BLACK  HISPANIC/LATINO  WHITE  12.50%  WHITE  100.00%  VIOLATION OF TRAFFIC LAW  HISPANIC/LATINO  WHITE  33.33%  MISPANIC/LATINO  WHITE  33.33%	MANAGER CONTRACTOR CONTRACTOR	Zentakining Parket	100.00%	3,337
HISPANIC/LATINO 71.43% 55 14.29% 7 14.29% 7 100.00% 7 100.00% 7 7,548 1 100.00% 7 7,548 1 100.00% 7 1 100.00% 7 1 100.00% 7 100.00% 7 1 10		BLACK	14.29%	1
Total 7,548  12. Arrest Based On  OUTSTANDING WARRANT BLACK 12.50% 15.00% 16.00% WHITE 12.50% 16.00% 100.00% 1	ARREST	HISPANIC/LATINO	71.43%	5
Total         7,548           12. Arrest Based On         OUTSTANDING WARRANT         BLACK         12.50%         1		WHITE	14.29%	1
12. Arrest Based On         OUTSTANDING WARRANT       BLACK       12.50%       1         HISPANIC/LATINO       75.00%       6         WHITE       12.50%       1         VIOLATION OF TRAFFIC LAW       HISPANIC/LATINO       66.67%       2         WHITE       33.33%       1	Section and the section of	A SHARE SHOWING	100.00%	7
OUTSTANDING WARRANT BLACK 12.50% 1.50	Total			7,545
HISPANIC/LATINO 75.00% 6  WHITE 12.50% 1  100.00% 3  VIOLATION OF TRAFFIC LAW HISPANIC/LATINO 66.67% 2  WHITE 33.33% 1	12. Arrest Based On			
WHITE         12.50%           100.00%         3           VIOLATION OF TRAFFIC LAW         HISPANIC/LATINO         66.67%         2           WHITE         33.33%         1	OUTSTANDING WARRANT	BLACK	12.50%	1
VIOLATION OF TRAFFIC LAW         HISPANIC/LATINO         66.67%         2           WHITE         33.33%         1		HISPANIC/LATINO	75.00%	6
VIOLATION OF TRAFFIC LAW HISPANIC/LATINO 66.67% 2 WHITE 33.33%		WHITE	12.50%	1
WHITE 33.33%	Parametric Control	THE PERSON NAMED IN COLUMN	100.00%	8
	VIOLATION OF TRAFFIC LAW	HISPANIC/LATINO	66.67%	2
100.00%		WHITE	33.33%	1
·····································	Commission of the Arts	CARLES AND SECURIOR	100.00%	3



Report Created on: Jan 2, 2024 6:38 PM

Page: 6 of 7

Jan 1, 2023 - Dec 31, 2023

#### Texas TCOLE SB1187 Racial Profiling Report (2022)

PLEASE NOTE: This report is based on the format provided by the Texas Commission on Law Enforcement (TCOLE), current as of Dec. 14, 2022.

12. Arrest Based On			
Total			11
13. Was Physical Force	e Used?		
N	ALASKA NATIVE/AMERICAN INDIAN	2.25%	170
	ASIAN/PACIFIC ISLANDER	6.44%	486
	BLACK	18.32%	1,382
	HISPANIC/LATINO	36.96%	2,788
	WHITE	36.03%	2,718
		100.00%	7,544
Υ	HISPANIC/LATINO	100.00%	1
AND DESCRIPTION OF THE PARTY OF	Auto-California Maria Maria	100.00%	1
Total			7,545
Was Arrest Due to Cor	ntraband Found?		
N	BLACK	9.09%	1
	HISPANIC/LATINO	72.73%	8
	WHITE	18.18%	2
	The transfer was the second	100.00%	11
Total			11

Page: 7 of 7



Report Created on: Jan 2, 2024 6:38 PM